Math 098 Worksheet7.6A_Polynomiallnequallities_v02
NO BOOK/ NO NOTES/YES CALCUATOR

Fall 2017 Dressler

Name

Solve the polynomial inequality and graph the solution

set on a number line.
1) x2-6x+5>0

<

9 -8 -7 -6-5-4-3-2

2) x2-8x+15>0

-1

T T T
9 8 -7-6-5-4-3-2-

3) (x+2)(x-4)<0

9 -8 -7 -6 -5-4-3-2-

4) (x+1)(x -3) <0

9 -8 -7 -6 -5-4-3-2-

5)x2-3x-10<0

<

9 8 -7 -6-5-4-3-2

-1

1o0f4

6) x2-2x-15<0

9 -8 -7 -6 -5 -4 -3 -

2

-1 0 1 4 5

7)x2+2x =8

9-8-7-65-4-32-10 1 45
8) x2 + 5x = -4

9876543210 1 45
9) (x-5)(x+1)>0

9 -8 -7 6-5-4-32-10 1 45
10) (x-5)(x+4)>0

9 -8 -7 6-5-4-32-10 1 45
11)x2+2x+1>0

9876543210 1 45



12) x2 + 12x +36 >0 18) 2x2 +5x - 12< 0

N--
w4
~4
wd
a4

98765432101 23456 9 87654321
13) 3x2 + 13x - 30 < 0 19) -3x2 + 8x > 0

9 8-7-6-5432-10123456 7 6 5 4 3 2 4
14) 2x2 + 7x - 1520 20) -4x2 +5x 2 0

9 8-7-6-543-2-10123456 T 7 6 5 4 3 2 -
15)3x2 + 4x -4 20 21) x2 + 6x 2 0

9 8-7-6-5432-10123456 A
16) 3x2 + 4x - 1520 2)x2+7x20

98765432101 23456 D

17) 4x2 +9x -9 <0 23) x2 - 12x + 36 < 0

98765432101 2345°6 A A

20f4



24) x2 + 8x + 16 <0

T T T T T T T T
9 8 -7-6-5-4-3-2-

25)x2 - 8x +16:0

g
N ==
e o

9 -8-7-6-5-4-3-2-1

26) x2+8x +16:0

9 -8-7-6-5-4-3-2-1

27) x2 +5x + 6> 0

Va 1 1 1 1 1 1 1 1

9 8 -7-6-5-4-3-2-

28) x2 - 4x - 1220

9 8 -7-6-5-4-3-2-

29) x2 - 3x =4

9 8 -7-6-5-4-3-2-

30) (x-1)(x+8)>0

T T T T T T
9 -8 -7 -6-5-4-3-2-

31) x2 + 14x + 49> 0

9 -8 -7 -6-5-4-3-2-

32) 4x2 +9x-9320

T~

34)x2+3x20

< T

9 -8 -7 -6-5-4-3-2-

35)2x2 + 7x - 15> 0

T T T T T T T
9 -8 -7 -6-5-4-3-2-



36) (x+7)(x+5)(x-3)>0

AN

Cd b 1
LI BN N N BN NN BN R | T

1
-109-8-7-6-5-4-3-2-1012345678 910

37) (x+6)(x + 1)(x-6)>0

“+—+—++++—++++++++++++++>
-109-8-7-6-5-4-3-2-1012345678910

38) (x+5)(x +3)(x-2)<0

“+—+—++++t++—t+t++—t+t+t—tttt1t
-109-8-7-6-5-4-3-2-1012345678 910

39) (x+5)(x+4)(x-7)<0

LIS e S e e e s e s e e e
-109-8-7-6-5-4-3-2-1012345678910

40)x3 - 7x2 +2x+40> 0

Va 1 1 1 1 1 1 1 1 1 1 1

-8-7-6-5-4-3-2-1012 3456 7

41)x3 - 5x2 - 9x +45> 0

-8-7-6-5-4-3-2-1012 3456 7

4 0f 4

42)x3 +5x2 + 11x+10< 0

-8-7-6-5-4-3-2-1012 3456 7

43)x2 - 4x +4<0

9 -8-7-6-5-4-3-2-10123 4356

44)2x2 +11x - 6> 0

9 -8-7-6-5-4-3-2-10123 4356

45) (x +5)(x - 3)(x-4) <0

-10-9-8-7-6-5-4-3-2-101234567 8910

46)x2+4x+4>0

9-8-76-5-4-3-2-10123145¢6
47)x3—5x2+2x+82 0

————————————————

-8-7-6-5-4-3-2-1012134526 17



Answer Key
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D) (==, 1) v (5 %)

L S S A A
S 987-65-43-2-1001234
2) (-=,3) v (5, =)
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S S S S L S
9-8-7-6-5-4-3-2-10123436789
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3) (-2,4)
IIIIIII’ \ | I ]
IIIIIII& ’IIIII
9 -8-7-6-5-432-1012345¢67809
4) (-1,3)
IIIIIIII’ | I [ N S —
IIIIIIII\ ’IIIIII
9 -8-7-6-5-4-3-2-101 2 4 56 789
5) [-2,5]
S} —————>
9 -8-7-6-5-4-3-2-10123452%6 7289
6) [-3, 5]
——————F ' ————
9 -8-7-6-5-432-101234567809

7) (-0, =4] v [2, =)

I-----auluul

9 876-5-432-10 1
8) (-o=, -4] v [-1, =)

v

o
w
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9 -8 -7 -6-5-4-3-2
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9) (o, =1) v (5, =)

et o g ) , N ~
N L T L L T L L T ' T T T T T T rd
9 -8-7-6-5-4-3-2-1012 3 4 % 6 7 8 9

10) (==, -4) v (5, =)

p A L L L ) 1 1 1 Il J

Y 9.8-76-5%3200123 4
11) (e, =1) v (-1, )
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ok I L L I L L I L I L L I L L I L
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12) (==, -6) v (=6, =)

<
v

<o v . .. ., . ., .,
9 -8 -7 —% -54-3-2-10123456 7389
5
13) [—6,3
———F i -——————1—
9 8-7-6-5-4-3-2-10123 4526 7389
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Answer Key
Testname: WORKSHEET7.6A_POLYNOMIALINEQUALLITIES_V02
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15) (-0, =2] v % oo]
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Testname: WORKSHEET7.6A_POLYNOMIALINEQUALLITIES_V02

25) (-, )
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N T v v ' v ' ' v ' ' v ' ' v v v v ' 4
2987-6-5-432-101234567829
26) (-, =)
A AN
T4

S 98-76-5-4-3-2-10123456789
27) (==, =3) v (-2, )

et o ) ¢ . N
T ——— Y re
9 -8 -7 -6 -5-4-3 —& 101 2 3 456 789
28) [-2, 6]
e —t————————}
9 8-7-6-5-4-3-2-1012 3456 7389
29) (=, -1] v [4, =)
A I L L I L I L 1 1 1 1 [ I AN
e T 4 4 T 4 4 T a T T T T | 4 v d
9 8-7-6-5-4-3-2-1012 34546 7189
30) (=, -8) v (1, =)
AR \ 1 1 1 1 1 Il 1 1 L L AN
S\ T ’ T T T T T T T T T rd
9 -8-7-6-5-4-3-=2-10 } 2 3 456 789
31) (-, =7) v (-7, =)
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34) (-, =3] v [0, =)
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9 -8 -7 -6-5-4-3-2-1

35) (-, =5] v [%, w]
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9-8-7-6-5-4-3-2-1012345¢6789
36) (-7,-5) v (3, )

vV

e ———+——
-10-9-8-7-675-4-3-2-10 1 2
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38) (<=, =5) u (<3, 2)

AN T N R 1 \ 2 y A 3 3 1\ 1 L L 1 1 L L L
D VLR B S T T L L T T L L T T L L 7
210-9-8-7-675-482-10 123456780910
39) (-, =5) v (-4, 7)
Z1 1 a1 Y £ \
) WL B S 5y 2 L AL S S B S B B R T T T
210-9-8-7-675-%-32-10 123456780910
40) [-2,4] v [5, =)
T T T T I o . o T >
8-76-5-4-32-10123435678
41) [—3,3]U[5, o)
e —j—(———]—— >
8-76-5-4-3-2-10123435678
42) (-, -2]
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S\ T L T T L T ! T T T T T T T T T T
8-7-6-5-4-32-10123456 78

43) @

9 -8 -7 -6-5-4-3-2-

44) (-0, -6] v [% oo]

m
A 4

29 8 76 -5 -4 3 2 -
45) (-, -5) v (3, 4)

-10-9-8-7-6-5-4-3-2-10 1 2 g 45678910

46) (===, -2) v (-2, )
’:::::::v...::::::::
\—9—8—7—6—5—4—392—10123456789
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-8-7-6-5-4-3-2-10123456 738
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